4% 28 / External view
D view
le e
| |

5

[j?j“““

goooooooonooooooooo E'J
_0000Qno0Qona0oRooRog _:q‘yk

156

HEBAZA / Components
No. 2 / Part name #= / Pcs #ME / Material £& - RMEALIE / Color:Finish

1 $173— / Cover 1 # SECC / Steel t1.0 SECC 75974 / Black
2 < 4—3 / Base 1 7 JLEHR /Aluminium A1050P t1.5 J5v% / Black
3 3—7+—H—K / Corner Guard 8 TPE TS99+ L—%AE—-LYEK / Black-Gray-Navy*Red
4 B{FE RGRARATRILEMA x 8) 16 E7S =fiRo0A—k

screw (Hexagon socket head M4 - 8) steel Black trivalent chromate
5 HYZF / Carrying Handle 1 PU. PA. ABS. Steel 75w% / Black
6 BFRFER (FAZ2YE LI MS x 8) 4 % =ffiyoA—~

screw (Panhead tapping M5 - 8) Steel Trivalent Chromate

MAN—EP—NDEMMEFANETY . / Inner side of cover and base are conductivefinished.

8.9

o
o
IV
FA ./ 4]
w —f- W
L 1
26
A view C view
°’.
©
7 = " T = T | @
D lex
< i"
o
o
hl ~

1
)]
43
1
¥
Fl
|
=]
=]
8
=]
8
2
]
8
=]
8
=]
8
|
s
N
)]

N
140 230
43 70 43 43 160 43
156 246
F view

KOA—F—H—FFr—RER£FHEDTT,

B view

X Corner guard should fasten together with enclosure when assembling.

F view

[TAKACHI] #X&#tahFEHIE

itk (BUFEXREDOQ) / Color Type (End of product numberd)

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4 /Title

a—F—H R —2
METAL CASE with CORNER GUARD

o]

585 / Code AK{KX / Body O—F—AH—FK / Comer guard | ERF / Carrying Handle T v——
BBB 75v7% / Black 75974 / Black J35v% / Black
BGB 75v% / Black 4J'L— / Gray 75v% / Black
BNB J59% / Black FAE— / Navy J59% / Black iR
BRB 75v7% / Black LYk / Red J5v% / Black

%X /Checked

1 H

{ERL B /Date

2018/11/08

HIX]/Created FIZE /Product number RFE/Scale
MCG14-14-23B 1] 14
=3 1 /7 3




E view

$H/\— / Cover

15

4-@5.5

4-M4x0.7/8\—1)o 5T
4-M4x0.7Burring

15

D view A view

140

F view

o)
<

o
(%)

¥ )
Lo

o
L%
o
—_—
P ——_fe—
o
o0
L%
o0
L%
o0
L%
o0
L%
o
<
]

127.5 28

28

2-M4x0.7/8—1 45 T

2-M4x0.7Burring

G(2:1)

C view )
B view
15 15
o
2-@5.5
—_ ofmo\ G
= Vs gsg) Py
™ 0 285/ o )
50 130 50 N
EHEHLE
930 Inside Conductivefinished
md/Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—RFr—X
METAL CASE with CORNER GUARD

o]

R/ Approved

iR

1% [X|/Checked

1% H

#IX/Created

e

R /Product number

MCG14-14-23BL101

RFE/Scale
1:4

{EBL B /Date 2018/11/08

2 /3




>+v—< / Base
D view
EmERNE

)
L

Inside Conductivefinished

E view

15

4-M4x0.7/8—) 5 T

4-M4x0.7Burring

15

A view

138.9

F view

13.9

13.9

86.6

137.8

12

12

C view B view

10 10
2-M4x0.7/.\—Y 5T
2-M4x0.7Burring

N
o h 1
15 15
230
md/Title

BRRUINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

aA—F—H—RFr—X
METAL CASE with CORNER GUARD

o]

R/ Approved

iR

1% [X|/Checked

1% H

#IX/Created

e

R /Product number

MCG14-14-23BL101

RFE/Scale
1:4

{EBL B /Date 2018/11/08

37/ 3




